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Coefficient Std. Error z-Statistic Prob.
C 553.8344 23.22701 23.84441 0
TOTAL_TEMP 194.9309 9.241455 21.0931 0
TOTAL_TEMP(1) 91.19836 18.09606 5.039682 0
TOTAL_TEMP(6) 96.35696 9.699642 9.934074 0
TOTAL_ELEC(1) 1.42039 0.003051 465.5799 0
TOTAL_ELEC(12) -0.05289 0.003278 -16.1348 0
Variance Equation
C 1047417 45522.86 23.00859 0
RESID(-1)*2 0.038497 0.00147 26.18334 0
GARCH(-1) 0.428041 0.024082 17.77438 0
GARCH(-7) 0.138776 0.049408 2.808759 0.005
R-squared 0.980938 Mean dependent var 45503.93
Adj. R-squared 0.980932 S.D. dependent var 9402.27
S.E.of regression 1298.325 Akaike info criterion 16.99578
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Log likelihood -800574 F-statistic 173094.8
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